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QUESTION 1

What does Pig provide to the overall Hadoop solution? 

A. Legacy language Integration with MapReduce framework 

B. Simple scripting language for writing MapReduce programs 

C. Database table and storage management services 

D. C++ interface to MapReduce and data warehouse infrastructure 

Correct Answer: B 

 

QUESTION 2

Table metadata in Hive is: 

A. Stored as metadata on the NameNode. 

B. Stored along with the data in HDFS. 

C. Stored in the Metastore. 

D. Stored in ZooKeeper. 

Correct Answer: C 

Explanation: By default, hive use an embedded Derby database to store metadata information. The metastore is the
"glue" between Hive and HDFS. It tells Hive where your data files live in HDFS, what type of data they contain, what
tables they belong to, etc. 

The Metastore is an application that runs on an RDBMS and uses an open source ORM layer called DataNucleus, to
convert object representations into a relational schema and vice versa. They chose this approach as opposed to storing
this information in hdfs as they need the Metastore to be very low latency. The DataNucleus layer allows them to plugin
many different RDBMS technologies. 

Note: 

*

 By default, Hive stores metadata in an embedded Apache Derby database, and other client/server 

databases like MySQL can optionally be used. 

*

 features of Hive include: 

Metadata storage in an RDBMS, significantly reducing the time to perform semantic checks during query 

execution. 
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Reference: Store Hive Metadata into RDBMS 

 

QUESTION 3

What data does a Reducer reduce method process? 

A. All the data in a single input file. 

B. All data produced by a single mapper. 

C. All data for a given key, regardless of which mapper(s) produced it. 

D. All data for a given value, regardless of which mapper(s) produced it. 

Correct Answer: C 

Explanation: Reducing lets you aggregate values together. A reducer function receives an iterator of input values from
an input list. It then combines these values together, returning a single output value. 

All values with the same key are presented to a single reduce task. 

Reference: Yahoo! Hadoop Tutorial, Module 4: MapReduce 

 

QUESTION 4

You need to perform statistical analysis in your MapReduce job and would like to call methods in the Apache Commons
Math library, which is distributed as a 1.3 megabyte Java archive (JAR) file. Which is the best way to make this library
available to your MapReducer job at runtime? 

A. Have your system administrator copy the JAR to all nodes in the cluster and set its location in the
HADOOP_CLASSPATH environment variable before you submit your job. 

B. Have your system administrator place the JAR file on a Web server accessible to all cluster nodes and then set the
HTTP_JAR_URL environment variable to its location. 

C. When submitting the job on the command line, specify the ?ibjars option followed by the JAR file path. 

D. Package your code and the Apache Commands Math library into a zip file named JobJar.zip 

Correct Answer: C 

Explanation: The usage of the jar command is like this, 

Usage: hadoop jar [mainClass] args... 

If you want the commons-math3.jar to be available for all the tasks you can do any one of these 

1. Copy the jar file in $HADOOP_HOME/lib dir 

2.

or
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Use the generic option -libjars. 

 

QUESTION 5

You wrote a map function that throws a runtime exception when it encounters a control character in input data. The
input supplied to your mapper contains twelve such characters totals, spread across five file splits. The first four file
splits each have two control characters and the last split has four control characters. 

Indentify the number of failed task attempts you can expect when you run the job with mapred.max.map.attempts set to
4: 

A. You will have forty-eight failed task attempts 

B. You will have seventeen failed task attempts 

C. You will have five failed task attempts 

D. You will have twelve failed task attempts 

E. You will have twenty failed task attempts 

Correct Answer: E 

Explanation: There will be four failed task attempts for each of the five file splits. 

Note: 
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